pr|GeV/e] | 2<y<25 25<y<3 3<y<3h 35<y<4d 4<y<4b|2<y<4b
0—-1 1.25+0.14 1.244+0.09 1.234+0.08 1.274+0.08 1.30+0.09 | 1.26 £0.09
1-2 1.29+0.12 1.28£0.09 1.30+0.08 1.28+0.08 1.39£0.09 | 1.30+£0.09
2—-3 1.38+0.11 1.35+0.09 1.36+0.08 1.38+0.08 1.39+£0.09 | 1.37+0.09
3—4 1.414+0.11 1.434+0.09 1.43+0.09 1.48+0.09 1.56+0.11 | 1.4540.09
4-5 1.524+0.13 1.444+0.09 1.4840.09 1.56+0.10 1.624+0.11 | 1.5140.10
5—6 1.604+0.11 1.58+0.10 1.61+0.10 1.60+0.10 1.76+0.14 | 1.614+0.10
6—7 1.67+0.12 156+0.11 1.614+0.11 1.644+0.11 1.80+0.14 | 1.64£0.10
7T—8 1.58£0.12 1.53+0.10 1.68+0.12 1.754+0.13 1.87+0.17 | 1.64£0.10
8—-9 1.584+0.14 1.64+0.12 1.79+0.14 1.82+0.15 2.02+£0.20 | 1.714+0.11
9—-10 1.71+0.15 1.78+0.14 1.774+0.15 1.90+0.17 2.01£0.25 | 1.80+£0.12
10 — 11 1.76 £0.17 1.69+0.14 1.924+0.17 1.944+0.20 2.204+0.32 | 1.834+0.13
11 —12 1.944+0.21 1.754+0.18 2.204£0.21 1.684+0.19 2.1240.36 | 1.924+0.14
12 —-13 1.76 £0.21 1.67+0.17 2.084+0.24 1.964+0.25 2.994+0.60 | 1.91£0.15
13—-14 1.75+0.25 1.984+0.25 1.894+0.26 1.404+0.21 5.94+1.57 | 1.98+0.17
0—14 1.38+0.11 1.36£0.09 1.37+0.08 1.38+0.08 1.44+0.09 —




